fE&ZEHEIA Z — X TV HE

4

Fn 7 £

(1l

XA B R &R
/)N
R7| RE |

T2 2 W B RS T




Se—

» CF BIABEBRERBT (42— FAHIE (1/2)

(£}

ST R

Q)

i}
S

; ;-? ::—/ 2R (a1

f ';: P
Y 7 o e e ‘
" (A1 {

I

(85 ] 3 (£}]

o= .
.\
¥
Forara e
»

/ T e || wwm 0 e o line ]
e M [ n e lonmaemll  emmeme @ FE L g
/ ‘q - S =
Sty i
- m- L IS DL e S
i mms-sraen .
om TL ----- e _ ST FIEN
Nod4'— b i
e BiEi ) LS
e h SEA (BBAGRER) "
s 3 - -_—
: 37 ~
— 34,3332
¥§ 1{ '
) 1
— I___. —— I
Lo i
' | ; ’L}; ‘- 1E T EAEE B
ERY - BLRENE(11A~3A) AR { [rEm “i L %Elﬁ "
[ L B8N (EW) ] [{EARNISA] 5] ' el . . :
RE CLH 13 H CABEERED AL T Hel. Snk s 900 m2 StEREENE 05LE60nkE 37 A& BEE 7HYY 1500LF180cnkEm 1 #

CHE 150 # [4EIZPINIFA] (@) " 601 _E90cmsk i 2 K
BE 248 13 % NsA EH H=0. 45m*K i 43 % ‘

ZHE 150 & XA E4 H=0.45L1 0. 75mKiE 68 #k EEREZREE M 4 =
[SEL (FAER)] N3A E¥ H=0.75LLET. 2mK# 30 4% 30LLE60cmKiE T & 7 ,I-%ﬁ%jjﬁ
f;ﬁ%lﬂﬁﬁéﬁﬁaﬁb 820 m [BRE]

*: 820 m BRE (ANH)  7mvanaly 259 m2 . -
[(E8Y (FHTY)] BE (RE) B3P 3,000 m2x 2 AT EB2—IF L
BRE: 1K [FEAE] s 4 =
}ﬁi;: 1K aAR 30cmk it 32 K *Eﬁ*ﬂi%ﬁ*%%IE¥%§§ E{
30LL £ 60cmakiiH 306 &
HiE 650 m2 EEWEEILN




BAEREMET (H5— /K (2/2) 2t e

- i e - —

= : z L i | S g 1B . :

\ k - 5

[ 1 _ = E 3 +

| B B i

: i : P S B i

el / “ t- ¢ & N uﬁ
/ 4 t—t

/ ] F——[ {a) F (a)

: il e o - )\":
: [

(=) 1 ;
Py b RAR—2 o

FrET

eSS

)

GSEmR 1

()3

|
|
! 1
: |
A |
o [
|
., |
|
i
i
£
i
& — Ly
H ! I i 6
: i I n
: ! i j=t! )
. 1
4 il
o n -
{

(AruyejRajnne ns o =z

T
b 3

S——— 3 o
|

e e e e T o o e o o e o S b e e e e e o ot

(e}

LY R ]
1L e A
i A
= F
— e e —
S e '
-.._,_____J ] &_ __________________________ L —

. |
[ :
i[ :
N E l : 5
l.:z-'u::v-_..:::-s--ﬂ-‘n.t.s_-.-.--a.—u N S S ey o '_ l = - }
et py 7 =AO~—} 3
-i L ~ i “
/ E | :
1 20. 1938, |: :
X Y 3
r""“"‘-‘--'--;,. T _I,-itg-,. - a5 AR AL - F
Sat— T = a3 u——:‘—“_‘;‘_-‘_
' !—-—n—q_.__=,
fan) : "LT::E:":":"T_‘::{
fh__. e ~9gng 3474 = l“:::?.‘.‘
3 TTrERAgAs e s . g L
- = -»ﬁ'-.::‘.‘:,ﬂ—m{k.= ;-_m’a . Ay
—s M el a i, ~ Nl T T Y =
ERY - AVREKE(11A~3A) BAREHE . - 2
[& L 28T (E9)] [ A KI5A] BAEE -
BE CLH 13 B (CABFEHED HEAENA ZF4E H=1. 5mR i 900 m2 : ﬁﬁE] e ————
CHE 150 #% [H I NI5A] o

:z : BEEBEATE 30LLE60cmKE 37 & ‘ .
BECtE 13 % MR E) H=0. 45mskid 43 ¥ p ‘ . B == Hh
CHE 150 # XA F4 H=0. 455110, Tomski 68 # © COLLLI0onAA 2 & ]| EEEH

BEL (FHE2) ] M3A EH H=0 T5LIET 2mkiE 30 4 o
WE BAHEEEL 820 m (] @uupnrnr s

i 820 m RE (A5 JoRAL 259 m2 S0 E6OomRim T & EEZTERIAA — = F)LHX

[(ER/YTHTY)] BRE (B#R) 185K 3,000 m2 x 2[E] | , =
B 1A Rl " HEREHEREEXBERT

. R IR . IR 3
A y —
=il o 650 m2 ; = EBEETEEm

—




14 BIAEEEmEST (OF/\ T H#X) l juu

BIAEE
[HEARXIA ]
PEONA BFHE H=1.5mKiE  100m2

Bl e e . BN KT

————

e =

BAEE
[{EEARN5A ]
FERIN A HHE H=1.5LLE2. SmkiH
X A (ERADH)

190m2

HNT S5 K TEHZE RS — 3 LK
MR HEREEEBERR

EBEEEHA



ST (51604) O |DEENZR (144/604)
AR o |ERZS
IR O | RFEEH

/4N"ﬂ“""""“"“"Hﬁﬁﬂﬂﬂpmmunmhi;::_

0 o°F 555 58056256 ;
553 C 0.0 o6 66568 559
550 %0 o 950,33 —_
559 5612, Q & D%, 2847586 535 539

57
o

510 57 9} e AN o o
LT TR A g B 8 B8 0 e oty St
%0 R T B "‘N:']!m.l & S 50 1% OSIoTera
PR R TR & 8700 8% 6, 0 6o h 9P O ha b o]
b 631 633 634 626 64

SAREEFELCLERQ mR=1:1000

[o]lef[e|e[o|e][o]e]

E&Ze kI 2 — 2 LV HIX
TR SHHE RS PR & RT
TR T




QB R (264/60%) ” EAKECLERKQ ®R=1:1000

EERET
RiEEH E ° o]le]e|e|e|e|a|®]
B-57

/SR (FH60A)
IR

O
0GD901
6210 0947
G52
00 9025948
9030 6409

89 <]
898 904@ O 949
905 963 D960
9080 O Qg 953
910, 907 O 0050
) m@eog 952 O
i 912 0920 o %I o1
9620 940 &
961 O 936 Og34

25
933
924 wo 93
o 93 0932

910

891
% o _ows g% 105 &°
5

BIEWIA 2 — X VX

RECHASTHE R PL3E S 227 E
BB 22 FB T




~ LK (B160AK) O |®FExZ (154 /60AK)
. y MIA o |EEXZS
IR O |fkixFH
B-58 B-59
- = 00— 0 i R

Q331

G266

LA A A oo
Aan onon

EAREMERG MR=1: 100

lolefeo|elo[e]a]e]

o688 2890 oo

el oh 1\
LA A

RN

TEBI2HEIR 5 — X LK

TRt R B s 2R
AEBZE U HH T




A [EEGeE [ [ORENE 65/60%) R BT = @) #ER=1: 1000
§ n EES o | BEAEN LEE M E K@ ®R
TS o [EEEH

lolefofe|of[e]a]e]

QOoa /
e L gmﬂ
| ¥ s

I

RERIE

; E&Z2EE IR 7 — 2 LV HIK
TR e R BREE S SRt
o BT BT




L0017 x0°9) B A

A%

IR 2 —

o2
i

i

AR PR %
%52

571}

< PRSI

P
=

1190+ 6

KEY PLAN






